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Ni =

= p N A  (v, crI  +  v202+ u303)+...v,o,
M

(1.15)



WlUdl I = 5 xloB ik9l%3U/%%.J.'/%kl~,  N = 0.0803~10'~  OX100J/%U.3

A =  0 . 1  vm2, x = 0.05 611a.l.

0  = 5.21 x 105
5x108x0.0803x102“x0.1x0.0.5
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Cc = N CT,

= 0.0803 x  10” x 2.6 x 1O-‘4

= 0.2 1 TtaJ-’

F = ZI

= 0.21 x 5 x 108

rz 1.05 x 10" Ciammwm.‘Eui?i

z
“20

= 1 XNA  (20,+0,)

18

= 0.602 x IO” (2 x 0.33 + 2 x IO-‘) IO”
18

= 0.022 TiaJ-l
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-2 = N, (3,  + N,  0, + N,  (3, ( 1 . 1 6 )

NZ’” 19.0 x 0.602 x  lWJ

238

NZ’S = 0_12_ 19.0 x 0.602 x 10zJ
NO 235 >

= 3.5 x 10’0 azla.l/mJ.3

C (f@hJ~3W~-l~)  = N*=  0 a*  + Nzx5 CT  2’5a a

= (4.77 x 10L2)  (2.71 x lo-“) +

(3.5 x  10"')(683  x  10zJ)

= 0.368 6685:
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0.368
4.80 x IO=

7.7 x lo-” w.J.2

7.1 lJ-6l.A
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nalaJHu1,

iynis (1.17),

= 1 9 . 3 x 0.602 x 1 024
197.2

= 0.0589 x 1O24 aslaaJ/%aJ.3

X = 0.03 ml .

I = IO e-rx

I = e =X
IO

*

InL = -N  G x
1 0

In 83.95 = 0.0589 x IO- x CT  x 0.04
100

- 0 . 1 7 4 9  = 1.767 x IO-‘x 102Jo

Is = 98.98 x lo-?“ ml.2



N =  0 . 0 3 3 5  x 10’4 mmJ/mJ.3, CJ  = 0 . 6 6  x 10’4  %aJ.2, x  = 30 lfaJ

I = (+ 0335  x 0 M  * 1”

i i = e~06613

=  0 .515

~I~~~sQa~soPa~iMnon~i~~  51.5~ m.maiwhGiu

= 2.699 x 0.602 x 10z4
26.98



e-olv*2 5 = ,-0 3268  I,

0.0722 xl = (1.3268 x,

3 = 0.0722 = 0.2209
X2 0.3268

v&cl 3 = 0.3268 = 4.5
XI 0.0722

0 = 2.62 x 10zJ llaJ.*
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v cTs  (sJl+u) oa (lll%k)

OZ~iLGerU 1.4 0.24

bElo%aLzou 7.0 0.10

ihhl 9 0.034

b llmu 4 755

aNmifJa.J 7 2450

dJ6E1oVi 4.8 0.0034
P ad
FlxlL3eJxl 7 0.0005

%&JaJ 0.8 0.007

kl6mFIu 38-100 0.33

b&n 11 2.62

mr fh 11 0.17

hblml.i 10 1.88

oonQm4 4.2 0.0002

bIGh.J 4 0.53

pxGeru 8.3 7.68

mo-%lLGJaJ 0 0.185
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